2, 6 & ® @ALLEN SECONART SHUTOFF

o MILD STEEL CONSTRUCTION

© RUBBER SHUT-OFF SEAT .

(gauge notincluded)
e 1" BALL VALVE FITTING FOR VACUUM/PRESSURE GAUGE
@ 4” STAINLESS STEEL FLOAT BALL seepage 46 for gauge options

PART# DESCRIPTION WEIGHT

[151-0015 | | 2 GALLON SECONDARY SHUTOFF, I”” THREADS, (130 CFM) | 9x9x2l || 22LBS
1151-0000 | | 2 GALLON SECONDARY SHUTOFF, 2” OPENING, (130 CFM) | 9x9x 18 || 2ILBS
152-0000 | | 4 GALLON SECONDARY SHUTOFF 3™ OPENING, (250 CFM) 10.5x10.5x20 || 39LBS
[153-0000 | | 5 GALLON SECONDARY SHUTOFF 3” OPENING, (350 CFM) || 10.5x10.5x26 || 40LBS
1153-0000-2D) | 5 GALLON SECONDARY SHUTOFF 3" OPENING, 2"DRAIN (350 CFM) || 10.5x10.5x26 || 42LBS

@ 1-6

7 79

SECONDARY SHUTOFFS

o
o
c Model#
. 1152-0000
Model# 4 Gallon
1151-0000
2 Gallon Model#
1153-0000
@ 5 Gallon
0
10
5 Gallon
2 @ALLWR] SECONDARY £ &5 @AY SECONDARY
PART# DESCRIPTION PART# DESCRIPTION
2 Gal - 8.5"
REPLACEMENT PARTS REPLACEMENT PARTS HRiema
|11 To00-0100 | 1/4” LoCK NUT [ {| [ T[] Tooo-010T | "5/16” LOCK NUT | — —
1 |/ 1000-0108 || 1/4” FLAT WASHER 1 |/ 1000-0109 || 5/16” FLAT WASHER
[ 3] T000-0125 | 174" x T 174 CAP SCREW [ || [ 3 ] T000-032'5/16” x 1 1/4” CAP SCREW |
4 |/1090-0000 | | 3 |/2” RUBBER SEAT (2LBS) 4 |/ 1000-0118 || 3/8” LOCK WASHER
[ 5[ T090-0001 || STAINLESS STEEL CLAMP (.06LBS) [ || [ 5 ][ To00-0138 ] 3/8” X 1" CAP SCREW |
6 |/ 10750000 || 4 STAINLESS STEEL BALL (ILBS) 6 | 1000-0168 || 3/8” HEX NUT o
|77 T037-0001 |1 BRASS BALL VALVE (ILBS) | || [ 7 |/ T090-0000] | 3 1/2” RUBBER SEAT (2L8S) | piterlg =8
8 || 1151-0100 || GASKET FOR 2 GALLON SECONDARY 8 |/ 1090-0001 | | STAINLESS STEEL CLAMP (.06LBS) 5 Gal=saa 2 Gal - 21
[ 9 [[1001-0020 | |” CLOSE NIPPLE [ 1| [ 9 | 1075-0000 | 4" STAINLESS STEEL BALL (1LBS) | Aod-2v
OPTIONAL FITTINGS 10 1| 1037-0001 || 1™ BRASS BALL VALVE (ILBS) i
| [055-0038 || 1/4” STREET ELBOW | || [ 1T]] ToO7-TOIT || GASKET FOR 4 & 5 GALLON |
1025-0001 | | 4” VACUUM/PRESSURE GAUGE [211001-0020 || |” CLOSE NIPPLE
| 1026-0000 | 2 1/2” LIQUID FILLED GAUGE | || [ 14 ] T093-0002 | 2" GLASS & O-RING FOR 1093-0000 |
1027-0000 || 4” LIQUID FILLED GAUGE 15 11093-0004 || 2” WELDMENT BASE FOR 1093-0000 |
| OPTIONAL FITTINGS ABOVE |
SEE LIST OF OPTIONAL
FITTINGS ON PAGE 51, 55 & 62.
ARMSTRONG

50 Genuine Chandler Equipment Products Distributed by: _E&UI&IE/IENT 1-800-699-7557



